(@ 12 GA. GALV. COMMERCIAL

TOP ROLLER BRACKETS
ATTACHED W/<4) 1/4° x 3/4° C——
HEX HEAD SCREWS PER )
BRACKET R

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2) 5/16" x
3/4* BOLT & NUT PER
BRACKET

2% 10 BALL STEEL 9° STEM
H/T HURRICANE ROLLER
W/ 7/16° RETAINER FOR

NON-THREADED SHAFTS

TYPICAL TOP FIXTURES

5.5* 18GA. R-TRUSS
ATTACHED W/ (&
1/4* x 3/4' HEX
HEAD SCREWS AT
. CENTER STILE
5.5 18GA, R-TRUSS ATTACHED
W/ (6 1/4" x 3/4% ‘
HEX HEAD SCREWS AT
EACH END STILE

N.T.S.

@

14GA. CENTER HINGE
ATTACHED

W/ (5) 1/4* x 3/4°
HEX HEAD SCREWS

N.T.S.

TYPICAL CENTER HINGE @

327
SECTIDON
HEI

SEE TABLE 2
ON PAGE 2
FOR STILE
PLACEMENTS

20 GA, GALV.
STEEL END STILE

> 1/4-20

x 5/87 TRACK _
SPLICE BOLT

AND NUT PER

JAMB BRACKET

2 GALV. STEEL TRACK
THICKNESS .083“(MIN.)

18’-0" MAX

INSIDE ELEVATION
N.T.S

WOOD BLOCK BEHIND EACH END STILE <2) PER SECTION
1-1/72" X 2-5/8" X 31-1/2° (32° SECTIONS)
1-1/72" X 2-5/8" X 27-1/2° (28 SECTIONS)

(7> 20 GA, CENTER STILES
ATTACHED WITH (2) CLINCHED JOINTS
AT THE TOP AND BOTTOM RAIL
AND ADHESIVE TO INTERIOR FACE

INTERMEDIATE
HINGES 14GA (MIN.)

2 X 6 SYP OR SPF
(NO. 2 OR BETTER)

1D 5/16° x 1 5/8°
LAG SCREW PER
JAMB BRACKET

27 10 BALL. STEEL 957
STEM H/T HURRICANE
ROLLER W/ 7/16"
RETAINER FOR
NON-THREADED SHAFTS

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS
W/ (3 1/4" x 3/4°

55° X 18 GA. R-TRUss HEX HEAD SCREWS

TRACK MOUNTING DETAIL

N.T.S.

R-TRUSS W/ (3> 1/4* x 3/4"

5.5° 18GA, R-TRUSS ATTACHED
W/ (4) 1/4° x 3/4°

HEX HEAD SCREWS AT

EACH END STILE

14GA, ADJUSTABLE ROLLER
CARRIER ATTACHED TO
R-TRUSS W/ (3 /4" x 3/4°
HEX HEAD SCREWS

5.5° 18GA, R-TRUSS ATTACHED
W/ (3 1/4" x 374

HEX HEAD SCREWS AT

EACH END STILE

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO

HEX HEAD SCREWS

27 10 BALL STEEL 9*
STEM H/T HURRICANE
ROLLER W/ 7/16°
RETAINER FOR

14 GA. END HINGE ATTACHED
W/ (6) 1/4" x 3/4* HEX HEAD
SCREWS

27 10 BALL STEEL 9° STEM
H/T HURRICANE ROLLER
W/ 7/16° RETAINER FOR
NON-THREADED SHAFTS

©

5.5 18GA. R-TRUSS
ATTACHED W/(3) 1/4° X
3/4° HEX HEAD SCREWS
AT END STILE

TYPICAL END HINGE
N.T.S.

BOTTOM BRACKET 13 GA.
(MIN.) THICK ATTACHED
W/(3 1/74° X 3/4 HEX
HEAD SCREWS

NON-THREADED SHAFTS

TYPIC

24 GA SKIN MIN\

12 GA COMMERCIAL

TOP FIXTURE ATTACHED W/
(4> 1/4" x 3/4° HEX HEAD
SCREWS ADJUSTABLE SLIDE
BRACKET ATTACHED

w/¢@> 5/16* x 374 BOLT

AND NUTS

TOP SECTION: 5 1/2°H X 18 GA.

(5* R-TRUSS) GALV. STEEL R-TRUSS
STACKED ON BOTTOM OF TOP FIXTURE
ATTACHED W/ <6) 1/4” x 3/4*

HEX HEAD SCREWS AT EACH END
STILE AND W/ (2 1/4° x 3/4*

HEX HEAD SCREWS AT EACH CENTER
STILE

S 1/2°H X 18 GA. GALV,
STEEL R-TRUSS <5 R-TRUSS)
ON INTERMEDIATE AND TOP
SECTIONS ATTACHED W/ <4)
1/4* x 3/4* HEX HEAD SCREWS
AT EACH END STILE AND (2
AT EACH CENTER STILE

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS

W/ (D 174" x 374"
i HEX HEAD SCREWS
fhali S 172'H X 18 GA. GALV.
STEEL R-TRUSS (5° R-TRUSS>
ON INTERMEDIATE AND BOTTOM
SECTIONS ATTACHED W/ (3
1/4* x 3/4" HEX HEAD SCREWS

AT EACH END STILE AND (@
AT EACH CENTER STILE

f BOTTOM SECTION: S 1/2°H X 18 GA.

(5" R-TRUSS> GALV. STEEL R-TRUSS

STACKED ON TOP OF BOTTOM BRACKET

ATTACHED W/ (4> 1/4” x 3/4*

HEX HEAD SCREWS AT EACH END

STILE AND W/ (2> 1/4" x 3/4'

lg%( é‘lEAD SCREWS AT EACH CENTER
L

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS W/
(3> 1/4" x 3/4* HEX HEAD SCREWS

BOTTOM BRACKET
ATTACHED

W/ (3) 1/4" x 3/4"
HEX HEAD SCREWS

SECTION A—A (SIDE VIEW)

N.T.S.

N.T.S.

AL BOTTOM BRACKET@

THE METHOD

WITH THE PROCEDURE DESCRIBED IN DASMA 108 & 115, ASTM
E330, E1886,
THE DRAWINGS WERE CALCULATED USING ASCE 7-16 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE
END ZONE, ROOF AT ANY SLOPE):

OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
E1996, & F588. THE PRESSURES SHOWN ON

REV | DESCRIPTION OF REVSIONS oA |BY
SIZE g
MAX S| " g
18" x 14 | 28 N
DESIGN LOADS| €5 =
+33.7 PSF | &% s
-38.1 PsF | xE %
& x 8
TEST LOADS | &< <
(1.5 x DESIGN L0ADS)| B - é’
+50.6 PSF | £§ >
-57.2 PSF | 25 2
=3 2
P w
LARGE MISSLE| £ 32 >
IMPACT | 23 &
RESISTANCE | & a

arry

MODEL 500 AMARR CLASSICA 1000, 2000

WIND SPEED (MPH) 194 176 168 160 154
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT | 30’ 15' 25’ 15 25’

SZE| DRAWN BY  DLJ| DATE “/20/20 DRAWING NUMBER
B | coECKED BY RR| DATE 12/02/20 IRC-5318-150-26-1
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 | SHEET 1 OF 2




WOOD JAMB ATTACHMENT TO STRUCTURE

e X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE

5716 X 3* LAG SCREWS STARTING 6 FROM ENDS THEN 16“ O.C. (1 1/2* EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8“ X 4° STARTING 6” FROM ENDS THEN 24° O.C. <2 1/2* EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6° FROM ENDS THEN 14‘ OC. <1 1/4* EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT> 3/8" X 4° STARTING 6” FROM ENDS THEN 24/ O.C. <2 1/2" EMBEDMENT)

(SPL,

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD

TRANSFERRED FROM THE DOOR.

INTERIOR OF GARAGE

MAX. WIDTH 18’0"

pesien Losps [ f [ PP HTT]

+303.3 LBS/FT
-342.9 LBS/FT

SEE NOTE 2

Center Stile Locations

(Measured from Left Edge)

SEE (TABLE 1> FOR
JAMB BRACKET SPACING

TRACK CONFIGURATION FOR 6'6" UP TO 14’ TALL DOORS

r - HEIGHT

RTICA AME ATTACHMENT 70 H v - 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
Y : A +303.3 LBS/FT & —342.9 LBS/FT
(S:}JMPEIEER'II')/A{ATXS:; EITITEN SCREWS STARTING 6“ FROM ENDS, USE PAIRS OF FASTENERS 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED
M ¢ 0.C, 1 172" EMBEDMENT) . '
HILTI 1/4* X 2-3/4* KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF % ! AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
FASTENERS (3" APART) AT 8 OC. (1 174° EMBEDMENT) 2 4. DOOR SECTIONS SHALL BE 24 GA. MIN. EXTERIOR SKIN
RT TACHMENT TO GROUTED C-50 K <2000 PSI GROUTS / ROLLED FORMED, W/ BAKED ON POLYESTER FINISH
HILTI SLEEVE ANCHOR 3/8* X 2-3/4° STARTING 6 FROM ENDS THEN 16° O.C. <1 1/4* 7 5. REFER TO TABLE 1 FOR TRACK ATTACHMENT SCHEDULE
EMBEDMENT) (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK) / 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
*_AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. &EIQA‘%S!SC;FSE'?HERI?&SW?L%N?rxll- igg:%%? T%O%mgg IE—C()):EI))IEIGS
*PREPARATION -
ION OF WODD JAMBS BY DTHERS / 7. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH
i i 1 1
_ woop CONCRETE HOLLOW BLOCK GROUTED BLOCK /‘ THE 2018 IRC/IBC
= STRUCTURE STRUCTURE STRUCTURE STRUCTURE /
5 %
u 4 \ <| \ \ :l \ n
= I 1 4
= I—_—l Section
172 MIN 2-3/4 MIN 1-1/2* |MIN 4
2X6 JAMB Width
TYP, 3¢ MIN h ®
=
(G} =
B |E £ 2
13 GA, FLAG BRACKET ATTACHED TO wOOoD g |ZP E £ 3
wﬂis) 5/16 DIA. X 1-5/8° LAG BOLTS AND TO 8 E 1: 3 BE g ' g TABLE 3
TRACK W/ (4) 1/4°-20 x $/8 TRACK SPLICE ) z = STRUT
/ /Z) BOLTS AND NUTS | SECTION | SIZE
5.5"
/ X A— o |22
i H 5.5"
7
JJ _J]J L ;| > 5.5"
SPLICE TRACKS AT THIS LOCATION AVAILABLE TRACK CONFIGURATIONS 4TH 5'5,,
5 W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS NT.S. 5.5
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8" 5.5"
LAG BOLTS. (1) AT SPLICE LOCATION AND 3RD m
(2) IN UPPER PORTION OF FLAG BRACKET 5.5
5.5"
2ND e
5.5"
BOTTOM T
(1) 5/16" DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET
(B> 12 GA. GALV. STEEL
JAMB BRACKETS
H ATTACHED W/ (1) 1/4"-20 x 5/8"
THRSUGH — TRACK SPLICé BgLT/& NUT x o/ TABLE 1
; DOOR TRACK ATTACHMVENT TYPICAL
SPLICE

ALL TRACK ATTACHMENT SPACING +/—2" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY

REV | DESCRIPTION OF REVISIONS DATE | BY
S
MAX SIZE |=m N
18" x 14 |38 .*“““ S
¥} R
DESIGN LOADS| 85 S
+33.7 PSF | &= S
-38.1 PSF | EE 2
o g
a X 5
TEST LOADS | 2% d
(1.5 x DESIGN LOADS)| B 5 z
+50.6 PSF | £5 ,¢ z
-57.2 PSF |25
55 W ';’.‘?.E...':’".?z\ &
» WOSIONALEN .~ 3
LARGE MISSLE] £ & P Sty 5
IMPACT | 232 S
RESISTANCE |~ & TX &

arr,

MODEL 500 AMARR CLASSICA 1000, 2000

SIZE| DRAWNBY DU

DATE 11/20/20

B| ceckenBY RR

DATE  12/02/20

DRAWING NUMBER

IRC-5318-150-26-

AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

SHEET 2 OF 2




